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| Problem 1
: Adam made tea and coffee. He made enough tea to |

p fill 6
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: Multiply. Find the product in its simplest

I form.

Worksheet video 1 Name

mugs. If he made 4/7 as much coffee as teq, :

|
: how many coffee mugs will be filled?

ANSWER

Multiply. Find the product in its simplest

m3.i

Problem 4

Lois made chocolate cake and Vanilla cake. She made
enough chocolate cake to fill 4 boxes. If she made 2/5

as much Vanilla cake as Chocolate cake, how many boxes
will the Vanilla cake fill? :




